Subscribed and sworn to before me this 3 rd da

MUCHELLE D. HENNIN

STATE OF STA

NOTABY PUBLIC

19 92

Notary Public

Date Commission Expires

STATE CORPORATION COMMISSION Distribution JAN (1992 SWD/Rep NGPA 1 _Other (Specify) CONSERVATION DIVISION WICHITA, KANSAS

C Wireline Log Received

ORIGINAL

Attachment Sheet to ACO-1

Vess Oil Corporation E.B. Studer #5 NW NE NW Sec. 2-27S-12W Pratt County, Kansas

DST #1 3970-4015 Zone: LKC 200'Zone

Times: 30-45-45-60

Blow: BOB-1 min./BOB-3 min.

Rec.: 300'GIP, 120'SOCMW, 970'GW

Chlorides 98,000

IFP: 112-253 FFP: 355-557 ISIP: 1413 FSIP: 1410

HP: 1937-1924

DST #2 4105-4181 Zone: Miss.

Times: 30-45-45-60

Blow: BOB-GTS in 10 min. on 2nd open

Rec.: 5,000 CFGPD

125'OGCM-10% oil, 10% gas, 78% mud, 2% water

IFP: 72-72 FFP: 92-97 ISIP: 877 FSIP: 900

HP: 1957-1942 Temp 110 degree

SAMPLE TOPS LOG TOPS

Heebner	3488	(-1620)	3490	(-1622)
B. Lime	3668	(-1800)	3670	(-1802)
Lansing	3684	(-1816)	3690	(-1822)
BKC	4034	(-2166)	4034	(-2166)
Miss Chert	4120	(-2252)	4136	(-2268)
B/Chert	4172	(-2304)	4178	(-2310)
RTD	4260	(-2392)	4269	(-2401)

RECEIVED STATE CORPORATION COMMISSION

JAN 0 6 1992 CONSERVATION DIVISION WICHITA, KANSAS . Phone 316-793-5861, Great Bend, Kansas

3308

reat Bend, Kansas ORIGINAL Phone ALLIED CEMENTING CO., INC.

New	ime Office P. O. Box 31	Rossell, Adinas 0/009	
Sec	。 [1] [1] [1] [1] [1] [1] [1] [1] [1] [1]	alled Out On Location Job Start	Finish 4
Date 7-9	the supplies of public distriction and the	DPM 13:00 P.M. 530 PM	State
Lease E. B. Studen Well No. 4	S Location 1	SCPO 125, 115/5 Praty	145,
Contractor \ \ \) \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	KAMPA MERIKAT WAKATATA WALE BURKER KAMPATATATA	The first the second section of the section of	
Type Job Surface	Anagree and green the con-	You are hereby requested to rent cementing equipment a	nd furnish
Hole Size 12 1410	T.D. 2910	cementer and belper to assist owner or contractor to do	work as listed.
Csg. 85/8	Depth 291	Charge	rine a l'ellement de l'ellement.
Tbg. Size	Depth	To Vess Oil Corp	
	2. 图2. 图2. 图2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2	Street	e verse en
Drill Pipe	Depth	City	12 - 14 - 14 - 15 - 15 - 15 - 15 - 15 - 15
Tool	Depth	The above was done to satisfaction and supervision of own contractor.	er agent or
Cement Left in Csg. 5	Shoe Joint	Purchase Order No.	
Press Max.	Minimum	X Con A	
Meas Line	Displace 17 3/4 bbb	CEMENT	
Perf.	the later than the same than		
EQUIPME	NT	Ordered \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	2000
		Consisting of	Partial Post Name
No. Cementer	Time	Common Poz Mix	PROPERTY OF STREET
Pumptrk Helper		Gel.	44.4
No. Cementer Pumptrk Helper		Chloride	The state of the s
Driver	Mark	Quickset*	
Bulktrk O	A STATE OF THE STA	Zalidatori etta ale ale ale ale ale ale ale ale ale al	
Bulktrk Driver	The Charles of the Control of the Co	Sales Tax	
		Handling	THE RESERVE OF THE
DEPTH of Job Reference:	P.O. G. S. STREET & HEAT PORTURE ON W	Mileage	Part of the second
- FOWER CR	And Service that the service of the	Sub Total	
The second of th	2092		38063531
	Sub Total	Total	
	Tax 14 months and a mil	Floating Equipment	
	Total	Conductive Control of the Control of	AND THE STATE OF STAT
Remarks: Canaut Vid	Circulate		AND THE PROPERTY OF THE PARTY O
	de santi la la la contra la co	BORNES CONTRACTOR AND CONTRACTOR	HARVER SE
	Control of the Contro	RECEIVED	11 34 1 20 2
		STATE CORPORATION COMMISSION	
100,00	-87	British and the second of the	
_ Alled Comenting		JAN 0 6 1992	
Buf Tom Vietna		CONSERVATION DIVISION WICHITA, KANSAS	

INVOICE

+ 9

ORIGINAL BALLAS, TX 75395-1046

HALLIBURTON SERVICES

A Halliburton Company

173635 09/10/1991

WELL/PLANT LOCATION STATE " WELL/PLANT OWNER等的可以 SAME PRATT B STUDER 5 SERVICE LOCATION CONTRACTOR JOB PURPOSE CEMENT PRODUCTION CASING 09/10/1991 L D DRILLING RATT ACCT NO CUSTOMER AGENT VENDOR NO CUSTOMER P.O. NUMBER SHIPPED VIA SHIPPED VIA COMPANY TRUCK GREG DAVIDSON 24842

> VESS OIL CORP. 8100 E. 22ND NORTH BUILDING 300 WICHITA, KS 67226

DIRECT CORRESPONDENCE TO FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050 OKLAHOMA CITY, OK 73102-5601

	引起来自由Web Appendix DESCRIPTION TO A TOTAL	AVAITANDE	:U/M	型 BUNIT PRICE (何子)	THE THIRD AMOUNT HE WAS
PRICING ARI	A - MID CONTINENT	"知题内部集中"	13	機等於大學工學學院	
000-117	MILEAGE STATES	10		2.60	26.00
. •			UNT		
001-016	CEMENTING CASING	4273	FT	1,300.00	1,300.00
		1	T'NU		
030-016	CEMENTING PLUG 5W ALUM TOP 3	4.5	IN	35.00	35.00
		1. Salah 1.	EA		
018-317	SUPER FLUSH	12	SK	87.00	1,044.00
12A	GUIDE SHOE - 4 1/2" 8RD THD.	1	EA	89.00	89.00
825.201					
24A	INSERT FLOAT VALVE - 4 1/2"8RD	1	EA	73.00	73.00
815.19101				44.	
27	FILL-UP UNIT 4 1/2"-5"		EA	27.50	27.50
815.19113			* . *		
40	CENTRALIZER 4-1/2" MODEL 5-4	5	EA	43.00	215.00
807.93004					
	STANDARD CEMENT	75	sk	5.35	401.25
506-105	POZMIX A		sk ·	3.29	164.50
506-121	HALLIBURTON-GEL 2%	2	SK	.00	N/C
509-968	SALT	600	LB	.10	60.00
507-775	HALAD-322	55 1	LB	6.15	338.25
504-308	STANDARD CEMENT	50	SK	5.35	267.50
508-291	GILSONITE BULK	625	LB	.35	218.75 *
500-207	BULK SERVICE CHARGE	196	CFT	1.15	225.40
500-306	MILEAGE CHTG MAT DEL OR RETURN	84.73	TMI	. 80	67.78
			1		
				RECEIVED	
	INVOICE SUBTOTAL		T2	TE CORPORATION COMM	ISSION 4,552.93
			31	TE COM ONATION SOME	
	DISCOUNT-(BID)			JAN 0 6 1992	910.58-
	INVOICE BID AMOUNT		`	JEN O D 15/25	3,642.35
			ď	ONSERVATION DIVIS	llon
	*-KANSAS STATE SALES	XAT	7	WICHITA, KANSAS	[[[a, S], a, w], 50, 10, 10, 10, 10, 10, 10, 10, 10, 10, 1
	**** CONTINUED	N NEXT PAGE	4.4	**	
					Takasa Medika Salah
	. TERMS INVOICES PAYABLE NET BY THE 20TH OF THE FO	LLOWING MONTH AFTER DA	ATE OF	INVOICE UPON	